
Title

Drawn Date Number
Peter Harrison

50.0010.00

6.35

20.00

60.00

22.00

26.00

305Ø x 4 Deep

M5 x 10 Deep

6.00Ø

12.70

12.70

38.43

4.73
10.00

3.20

12.50
8.00

6.35

M6 Thread

5Ø x 4 Deep

25.40Ø 25.40Ø

12.00 12.00

90.0°

11.00 2.50

90.0°

8.00Ø
8.00Ø

10.00
3.20

12.50

7.98Ø M6 Thread

Ø7.98

10.00

10.00

30.00

6.35

M6
5.20Ø

1

2 3

456
1

2

3

45

6

MOUNTING PLATE: Mild Steel

SLIDING SPINDLE
Mild Steel

TOP BLOCK
Mild Steel

VEE ROLLER
Aluminium - 2 Required

GROOVED ROLLER
Aluminium - 2 Required

THREADED BUSH
Mild Steel - 2 Required

BENDING ROLLERS ASSEMBLY

M6 Hex. Screw x 20 long

2-M6 Hex. Screw
x 35 Long

2 - M5 Cap Head x 12 long

3 - M6 Nut & Washer

Spring

Bending Rollers

BR 0012019

10.00


